How many wheels are on.......

w M X C O M < 9 A
H m M w O <X H

T M £ Z HLH Z M o w I T

< O -
w
H X Z

H W
< C m W C m
v ®m 4 T p P

P o4 4 4 A4 =~ @© o
—

) H
C 4 ©®© © 0 X X 1T pH C X
CDXIC—-Irn'n-nmgx
H 4 £ < X O Z O
= M »w o

cC O1I

<\ < M M ™M Z M © X P X OH

N MR K ZV

s o g 4 2z m m 4 X C O M
m 4 Z 4 £ m Z A4 <X mMm O I

1 bicycle

7 motorbikes

3 skateboards

10 cars and S bicycles
2 cars and 1 motorbike
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2 cars

10 cars

3 motorbikes

8 cars and 6 bicycles

4 cars and 2 motorbikes

6 cars

4 cars

1 skateboard

9 motorbikes

7 cars and 2 bicycles



Solution
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